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There are eight persons - Mita, Niya, Om, Pari, Qiya, Rati, Shri and Tiya. All of them are
in a straight row and are facing in the South direction but not necessarily in the same

sitting M N O?&R&T

order.

*———/__‘
There are only two persons between Rati and Parj. The number of persons between_Qiya and

e
Mita -is‘same as the numbe.r of persons between Pari and Shri, Om is not g-qeighbor of Shi M M Q 14 _I‘L
wha is immediate left of Niya. Qiya is second to the left of 015 m@ . — _— -
its at any corner of The row. Tiya sits immediateTight of Qiya. : D /}\ LT

1. How many persons are seated to the left of Niya?

A. One B. Three C. Four \9/4 E. None of these

2.  Four of the following five are alike in @ and thus form a group. Which

following does not belong to the group?™——

A.Om B. Rati

?
ey ) @R @

3. Who among the following is/are immediate neighbour(s) of Qiya?

LQJIF Soulk”

of the

A. Tiya B.Om \glgo'th Aand B D. Either Aor B E. Shri O 7< S v Q — %.l/'
4, Who among the following sits second to the left of the person who sits third from the \}’
Mo SIS thire o -

right end? 9
Gy
A. Mita B.\[iy/ C. Pari D. Niya E. None of these

5.  Who among the following sits third to the left of Rati?

A\.% B. Pari C. Niya D. Mita E. None of these @ %9“-0’5‘ '

Nine persons Anu, Bablu, Cheenu, Dona, Esha, Faria, Gaurav, Harish and Ishita are sitting in a

next to each other. is the neighbor of Dona but not of Cheenu.

——

. N . T ) arat § " .
Harish doesn't sit at any extreme corner]Dona is not sitting adjacent to either Cheenu or
lshita.}mﬁs second to the right of Harish.
~

6.  Who is sitting to the immediate left of Cheenu?

A, Faria \V( C. Harish D. Dona E. None of these

7.  Who is sitting between Bablu and Esha?

‘\,04; B. Faria C. Gaurav D. Cheenu E. None of these

8. Four of the following five are alike in a certain way and thus forms a group. Which of
the following does not belong to that group?

A. Gaurav and Harish B. Cheenu and Bablu (C_Faria and Gaurav  D. Dona and Esha E. Esha and Ishita
—— —7_.,- . N —— —

9.  Who is sitting third to the right of Harish? -

A. Bablu B. Dona C. Faria \I_),E{enu E. None of these

10. Who is sitting at the left most seat of the row?

A. Faria B. Bablu \C}a/urav D. Dona E. None of these

Ten friends Shiv, Anant, Rajat, Ankit, Vishal, Vijay, Shivam, Sanju, Karan and Tappu sit around a
rectangular table such that two persons sit along each length of the table, one person sits
along each breadth of the table and one person sits at the corner. Each of them faces towards

the table. -
— el . 1 N

row and all are facing north. It is known tha! Cheenu sits exactly in the middle ’and there iﬁl;oqw .
Mi@@ Dona is fourth to the right of Faria. Gaurav and Marish are sittimg 2~ R
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rectangular table such that two persons sit along each length of the table, one person sits
along each breadth of the table and one person sits at the corner, Each of them faces towards
the table. -
Anant, Vishal and Tappu sit in the same row. N Vs T 6’

Shiv and Vijay sit in the same row. S VI |V

S RIS AR TS vy dwoon o
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Vishal and Karan sit at the corner but they do T € same row, ——7 AJW . VG\K

Shivam sits opposite to Sanju and Anant sits opposite to Ankit but none of them sits at the
corner and exactly two of them sit along the length. —— 2L ) 116,

Sanju sits thir 1ght of Karan and is adjacent to Vijay, —=— '—‘/ S \¥
Vishal is not a neighbour of Vijay. m \—’—‘/ \/ L
11.  Whossits to the immediate left

'
A. Shiv B. Anant C. Sanju D. Karan \ﬁone of these

12.  Four of the following five are alike in some way and hence form a group. Which of the

following is the one that doe:;oylong to the group?
A. Shivam L 8. Karan C - 7 Sanju [P D. Rajat L E. Tappu c
13. Who among the following was sitting third to the left of Shivam?
A. Ankit 8. Vishal C. Shiv . Anant E. None of these

14. What is the minimum number of persons sitting between Tappu and Shivam?

A.Zero B. Three 7One D.Two E. More than three

15. Who among the following was sitting second to the right of Rajat?l}o .
A.19%0 B.1977 C. 1982 D. 2002 E. None of these

Eight boxes of different colors viz. Red, Black, White, Yellow, Violet, Brown, Grey and Pink are
placed at equidistance on a drcular table facing the centre, but not necessarily in the same
order. Their weights (in kg) are - 19, 23, 26, 28, 31, 38, 43 and 49, again not necessarily in the
same order.

Black box is third to the left of the box weighing 38 kg. Grey box is third to the left of Yellow
box. The box weighing 38 kg is a neighbor of both Brown box and Grey box. Brown box is
second to the left of Grey box. Pink box is second to the right of Red box. Box weighing 49 kg is
second to the left of Violet box. Only one box Is there between Yellow and White boxes. Black
box which is the fourth highest weighted box in the group is immediately heavier than Violet
box but immediately lighter than Red box. White box is neither the heaviest nor the lightest,
Yellow box is of 26 kg. Pink box's weight is not an even number. The box weighing 26 kg and 19
kg are not immediate neighbors. The sum of White box and Brown box is 62 kg.

16.  Which among the following boxes is placed between the box weighing 38 kg and the
pink box?

A Anand 8. Dharam C. Eshan D. Chitrash £ None of these

17. If the positions of Brown and Grey boxes are interchanged then which among the
following is true?
1. Grey box is third to the right of the box weighing 26 kg.
11 The immediate neighbours of Brown box are Red and Violet box.
1. Grey box is fourth to the left of Pink box.

A Oniy | 8.0nlyn C.Etherlorm D.Both lland W EAILL Wand Il

18. Four of the following five are allke In a certain way and hence form a group. Which of
the following does not belong to the group?

A, Grey Bax 8, Brown Box C. Black Box D. Red Box £ White Box
19, Sum of the weight of which of the following pairs comes to 74 kg?
A. Black and Grey 8. Brown and Viclet C.8lackand white  D. Red and white £ Brown and Grey

20.  Which of the following boxes is the third lightest?

A. The box whech = at immedkate left of wolet box B, The box whech & third to the right of the heaviest box
C. The box which is third to the right of Brown box D, Pink box £ None of these
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Eight persons- A, B, C, D, P, Q, R and S are sitting in arow in which some of them are facing
north while some of them are facing south. Only 3 pérsons sit to the left of R. 3 persons sit
between R and Q. B is 2nd to the left of Q.Vore than 2 people’s sits between B and § D is 2nd
to’fﬁe_lmﬂ'éigrmuth. Neighbours of P face the same d?é'ction;_c_is
2nd mright of A” A and P face opposite directions and smrly B and Q face opposite

directions too.
—

21. w many person(s) sits to left of P?
A B.2 c.3 D.4

22. Who among the following is third to the right of B?

E. Can't be determined

\//C‘an't be determined

23.  Which of the following combinations correctly show the neighbour(s) of D?

AS B.R,C ca \/n(vﬁzl

24. Who among the following sits at the extreme left end of the row?

AR VB/S‘ c.a D.A

25. How many person(s) sits between D and A?
\/ E. Can’t be determined

A R B.C C.D D.A

E. Can't be determined

E. Can't be determined

Al B.2 Cc.3
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